Det5x5.tex  (Det.mth, 2007.12.21.)

A vastagon jelolt oszlop ill. sor szerint térténé kifejtésekkel:
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9 4 4 8
+(+1)-(—6)-((+1)-3-det[—3 3 5] +(—1)-2-det{—3 3
2 6 9 2
4 8 4
+(—|—1)-1-det{5 9 4]+(—1)-(—2)-det[
9 2 6
5 9 4 4 8 4
+(—1)-5-((+1)-3-det[ 7 6 —1] +(—1)-2-det{ 7 6 —1]
9 2 6 9 2 6
4 8 4 4 8
+(—|—1)-0-det[5 9 4} +(—1)-(—2)-det[ 5 9
9 2 6 7 6
5 9 4 4 8 4
+(+1)-1-((+1)-3-det[ 76 —1} +(—1)-2-det{ 7 6 —1}
-3 3 5 -3 3 5

+(+1)-0-det|:

= (+1)-6-[(+1) - 2467 + (—1) - 0- 475+ (+1) - 1- (—429) + (—1) - (-2) - 33] +
+(=1)-0-[(+1)-3-467 + (—1)- 0- 404 + (+1) - 1- (—416) + (~1) - (~2) - 32] +
+(+1)-(=6)-[(+1) - 3-475 + (1) - 2-404 + (+1) - 1+ (=52) + (—=1) - (—2) - 4] +
+(=1)-5[(+1) - 3+ (=429) + (~1) - 2 (—416) + (+1) - 0+ (=52) + (=1) - (—2) - 0] +

£ (#1) - 1-[(+1) 3334 (—=1)-2-32+ (+1)-0-4+ (=1)-1-0] =

= 2298 .
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